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https://testing.gtu.ge/filter/tex/displaytex.php?texexp=A%20%3D%20%5Cbegin%7Bpmatrix%7D%20-2%20%26%26%204%20%26%26%20-5%20%5C%5C%207%20%26%26%20-6%20%26%26%203%20%5Cend%7Bpmatrix%7D%2C%20B%20%3D%20%5Cbegin%7Bpmatrix%7D%20-4%20%26%26%200%20%26%26%20-3%20%5C%5C%205%20%26%26%20-8%20%26%26%202%20%5Cend%7Bpmatrix%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=4A%20-%205B
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bpmatrix%7D%2012%20%26%2016%20%26%20-5%5C%5C%203%20%26%2016%20%26%202%20%5Cend%7Bpmatrix%7D%20
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bpmatrix%7D%20-12%20%26%2016%20%26%20-5%5C%5C%203%20%26%20-16%20%26%2022%20%5Cend%7Bpmatrix%7D%20
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bpmatrix%7D%2012%20%26%20-16%20%26%205%5C%5C%2013%20%26%2016%20%26%202%20%5Cend%7Bpmatrix%7D%20
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bpmatrix%7D%2012%20%26%2016%20%26%20-5%5C%5C%20-13%20%26%20-16%20%26%202%20%5Cend%7Bpmatrix%7D%20
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https://testing.gtu.ge/filter/tex/displaytex.php?texexp=A%20%3D%20%5Cbegin%7Bpmatrix%7D%201%20%26%26%200%20%26%26%20-1%20%5C%5C%202%20%26%26%205%20%26%26%204%20%5Cend%7Bpmatrix%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=B%20%3D%20%5Cbegin%7Bpmatrix%7D%201%20%5C%5C%202%20%5C%5C%20-2%20%5Cend%7Bpmatrix%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bpmatrix%7D%204%20%5C%5C%203%20%5Cend%7Bpmatrix%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bpmatrix%7D%203%20%5C%5C%204%20%5Cend%7Bpmatrix%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bpmatrix%7D%202%20%5C%5C%201%20%5Cend%7Bpmatrix%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bpmatrix%7D%201%20%5C%5C%202%20%5Cend%7Bpmatrix%7D
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https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5CDelta%20%3D%20%5Cbegin%7Bvmatrix%7D%202%20%26%26%203%20%26%26%20-1%20%5C%5C%20-2%20%26%26%200%20%26%26%202%20%5C%5C%201%20%26%26%201%20%26%26%204%20%5Cend%7Bvmatrix%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%0A%5Cbegin%7Bvmatrix%7D%0A2%20%26%26%20x%20%26%26%200%20%5C%5C%0A1%20%26%26%20-2%20%26%26%203%20%5C%5C%0A2%20%26%26%200%20%26%26%200%0A%5Cend%7Bvmatrix%7D%0A%3D%0A%5Cbegin%7Bvmatrix%7D%0A2%20%26%26%20x%20%5C%5C%0A-1%20%26%26%205%0A%5Cend%7Bvmatrix%7D%0A
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https://testing.gtu.ge/filter/tex/displaytex.php?texexp=A%20%3D%0A%5Cbegin%7Bpmatrix%7D%0A-1%20%26%26%202%20%5C%5C%0A-3%20%26%26%204%0A%5Cend%7Bpmatrix%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bpmatrix%7D%20%20%20-%5Cfrac%7B1%7D%7B2%7D%20%26%20-1%20%5C%5C%20%20%20%5Cfrac%7B3%7D%7B2%7D%20%26%202%20%20%5Cend%7Bpmatrix%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bpmatrix%7D%20%20%202%20%26%201%20%5C%5C%20%20%20-%5Cfrac%7B3%7D%7B2%7D%20%26%20-%5Cfrac%7B1%7D%7B2%7D%20%20%5Cend%7Bpmatrix%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bpmatrix%7D%20%20%202%20%26%20-1%20%5C%5C%20%20%20%5Cfrac%7B3%7D%7B2%7D%20%26%20-%5Cfrac%7B1%7D%7B2%7D%20%20%5Cend%7Bpmatrix%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bpmatrix%7D%20%20%20-%5Cfrac%7B1%7D%7B2%7D%20%26%201%20%5C%5C%20%20%20-%5Cfrac%7B3%7D%7B2%7D%20%26%202%20%20%5Cend%7Bpmatrix%7D
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https://testing.gtu.ge/filter/tex/displaytex.php?texexp=x%20%2B%20y%20%2B%20z
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=x%2C%20y%2C%20z
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%0A%5Cbegin%7Bcases%7D%0A2x%20%2B%205z%20%3D%20-1%20%5C%5C%0A-3x%20%2B%20y%20%3D%20-3%20%5C%5C%0A3y%20%2B%204z%20%3D%205%0A%5Cend%7Bcases%7D%0A
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https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Clim%5Climits_%7Bn%20%5Cto%20%5Cinfty%7D%28n-%5Csqrt%7Bn%5E2%2B2n%7D%29.
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cfrac%7B1%7D%7B2%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Clim%20%5Climits_%7Bn%20%5Cto%20%2B%5Cinfty%7D%5Cfrac%7Bn-2%7D%7B2n%5E2%2B5n-1%7D
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https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Csum%5Climits_%7Bn%3D1%7D%5E%5Cinfty%20%5Cfrac%7B2%7D%7B3%5E%7Bn-1%7D%7D
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https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Csum%5Climits_%7Bn%3D1%7D%5E%5Cinfty%20%5Cfrac%7B2%7D%7B%282n-1%29%282n%2B1%29%7D
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https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Csum%5Climits_%7Bn%3D1%7D%5E%5Cinfty%20%28%5Cfrac%7B4n%2B3%7D%7B3n-5%7D%29%5En
https://testing.gtu.ge/mod/quiz/view.php?id=9414&forceview=1
https://testing.gtu.ge/mod/quiz/view.php?id=9417&forceview=1

